
TDS30 DISCUS CIRCLE ASSEMBLY

4 X 26 MM PVC PIPE OUTLETS EVENLY

SPACED AROUND CIRCLE EDGE AND

CONNECTED TO BOULDER SOAK PIT 500 MM

X 300 MM X 300 MM, OR CONNECT TO

SUBSOIL DRAINAGE PIPING IF FALL PERMITS

2 X M10 BOLTS

& NUTS

2 X M10 BOLTS

& NUTS

CONCRETE BASE

TO BE STEEL

TROWELED FOR

ROUGH FINISH

75 X 5 MM

DURAGAL

FLAT BAR

12 MM DIA.

BRACE

BARS

300

GL

CIRCLE DEPTH  BETWEEN

14 MM & 26 MM

CONCRETE

SLAB

REINFORCING MESH

300

GL

PVC PIPE OUTLETS

SOAK PIT

100 MM THICK

ASSEMBLY INSTRUCTIONS

DRAWING NUMBER:

WEIGHT:

TITLE:

COMPONENTS

QTY ITEM

TDS30 ASSEMBLY

TDS30 DISCUS CIRCLE

- -

2 TDS30 DISCUS HALF CIRCLE

4 M10 NUT

- -

- -

- -

- -

- -

- -

- -

- -

4 M10 X 30 MM BOLT

- -

- -

- -

Oz Ring Pty Ltd

Trading as:

Play Hard Sports Equipment

ABN 79 066 094 559

24 Ern Harley Drive

Burleigh Heads Qld 4220

Phone: (07) 5593 4494

Fax: (07) 5593 4338

Website: www.playhardsports.com.au

Email: email@playhardsports.com.au

sports equipment

2500 MM DIA. WITH BRACES


	Sheets and Views
	TDS30 Assembly


